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i £ B | =g | EF=w) i IMP N % B A

| #A 1 FE 2 || zes|zon 2ymn | e | e | ive | e FE| e | B4 | (MP)
IMP IMP | IMP | 3 ¢ | Fpe | & | k|28 | MP MP at 2,

1 et FiyE 50 1 92 99 [ -7 -0.1 0.93 311.0 |47.8%

1 =) = 10 | 14 27 | -13 -1.3 0.52 60.0 [46.2%

1 [ AR 60 | 129 | -106 [ 23 [ 13 ] 04 | 11 |1.22 | 10 |427.5 [54.8%| 3

1 B BT 10 5 37 | 32 -3.2 0.14 42.0 [32.3%

1 Pt il BIEE 30 | 46 69 | -23 -0.8 0.67 172.0 |44.1%

1 R SFEE 40 | 65 | 719 | -14 -0.4 0.82 233.5 [44.9%

2 S PRHE 2 20 | 50 | -16 | 34 1.7 3.13 144.5 [55.6%

2 S L0y il 60 | 135 | -85 | 50 | 6 108 | 4 159 [ 4 14105 |52.6%] 8

2 JUNERES B2 20 | 25 54 | =29 -1.5 0.46 124.5 147.9%

2 JUNERES é’%&%zszz]«] 20 | 33 -58 | 25 -1.3 0.57 100.0 [38.5%

2 B ZE PRHE 2 20 | 24 48 | -4 -1.2 0.50 123.0 147.3%

2 BZE L G 60 | 98 | -84 | 14 [ 16 |02 | 14 J1.17 | 13 |411.0 [52.7%] 17

3 T FEEC 60 | 142 | -118 | 24 [ 12 |04 ] 10 J1.20 | 11 ]402.0 |51.5%| 12

3 SR s 70 ] 150 [-121 [ 29 |10 04 | 9 124 | 8 ]469.5|51.6%| 11

3 EEE B E 70 | 167 [ -126 | 41 | 7 106 ] 6 |133] 6 |462.5[508%| 14

4 P e ExCiilig 40 | 49 -87 [ -38 -1.0 0.56 261.0 150.2%

4 P e ECYEYN 10 | 15 -19 | 4 -0.4 0.79 61.0 [46.9%

4 P e (5 8 10 | 25 20 | 4 -0.4 0.86 69.5 153.5%

4 JEdraEs ECYEYN 80 | 135 | -163 | -28 [ 21 |-0.4 [ 20 ]0.83 | 20 ]|473.0 [45.5%| 24

4 PR MR 40 | 77 98 | -21 -0.5 0.79 238.5 145.9%

4 PR = 20 | 18 -67 | -49 -2.5 0.27 116.5 |44.8%

5 AR P 1 100 | 169 | 263 [ -94 | 25 |-09 | 24 |0.64 [ 23 |642.0 [49.4%| 18

5 Eird 2K 20 | 36 [ -18 | 18 0.9 2.00 145.0 155.8%

5 2K ZEHEVSS 80 | 187 | -135 [ 52 | 5 J07 | 5 |139 ] 5 |543.5[523%| 10

6 R BT 40 | 84 [ -59 | 25 0.6 1.42 260.5 150.1%

6 H e B e 40 | 81 83 [ 2 -0.1 0.98 262.5 150.5%

6 HES Bk AIEHEE 40 | 93 | 83 ] 10 0.3 1.12 285.5 154.9%

6 HES i 20 | 52 | 28 [ 24 1.2 1.86 140.5 154.0%

6 galk- %22 =T 20 | 25 58 | -33 -1.7 0.43 127.5 149.0%

6 I BENE: 40 | 89 -60 [ 29 0.7 1.48 270.0 151.9%

7 Alan SIA || Diana SUN | 100 | 208 | -191 [ 17 | 14 ] 0.2 [ 17 |1.09 [ 17 ]650.5 |50.0%| 16

7 Radihike RYR]| DianaSUN | 10 | 27 | -15 | 12 1.2 1.80 72.0 |55.4%

7 Radihike RYR] Sunny LAM | 60 | 86 | -148 | 62 | 23 |-1.0 [ 25 J0.58 [ 25 [369.0 [47.3%] 20

7 Radinike RYR] 2z | 30 | 36 | 92 [ -56 1.9 0.39 148.5 [38.1%

8 HELEH TRFR 70 | 140 [-139 | 1 | 18 J 0.0 | 18 | 1.01 | 18 [422.0 |464%| 22

8 Kb PtERE 60 | 154 | -141 [ 13 [ 17 02 | 16 | 1.09 | 16 ]365.5 [46.9%| 21

8 FHAS0 ) B 70 | 102 [ -166 | -64 | 24 1-09 ] 23 J0.61 | 24 ]409.0 |44.9%| 25

9 EEs AEEF 1100 | 250 | -144 1106 | 1 J 11 | 2 J174 | 1 |724.015579%| 2

9 O pEizgE ] 100 ] 226 [-172 | 54 | 4 JoS5 | 7 |131 | 7 ]705.0 |542%| 4

10 ATt e GaiE b 70 | 126 | -148 | -22 | 19 ]-03 ] 19 ]0.85 | 19 |440.5 [48.4%| 19

10 RIEE Pt 9L 1 80 | 208 | -123 | 85 | 2 L1 [ 1 J1.69 [ 2 |5565]53.5%| 5

10 S TRE 3 S0 | 93 | -85 8 0.2 1.09 340.0 [52.3%

11 AT [GHEe 30 | 71 -68 3 0.1 1.04 196.5 150.4%
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F5 55 g:ﬁ 1 g:ﬁ 2 M| zos | o || IMP | IMP | IMP | IMP | i B4 | A4 | (MP)
IMP IMP | IMP | 3 ¢ | Fpe | & | k|28 | MP MP at 2,
11 ANDY e 50 | 92 | -102 | -10 -0.2 0.90 322.0 149.5%
11 GETS 2R BE 20 | 22 52 ] -30 -1.5 0.42 112.0 143.1%
11 =B BIEGE 1100 | 224 [ -194 | 30 | 8 03 | 13 J1.15| 14 |693.51533%| 6
12 P B EE<F 30 | 64 76 | -12 -0.4 0.84 183.5 147.1%
12 P LI 40 | 81 92 | -11 -0.3 0.88 245.5 147.2%
12 B ELH 80 | 107 | -155 | -48 [ 22 |-06 ] 22 |0.69 | 22 |479.5 [46.1%| 23
12 I PR ELHE 50 | 102 | -113 | -11 -0.2 0.90 322.5 [49.6%
13 Faok HREER 70 | 149 [-133 [ 16 | 15 02 | 15 | 112 | 15 |468.0 |51.4%| 13
13 MG QLR 70 | 157 [ -127 [ 30 | 8 104 | 8 [1.24] 9 4785 [52.6%| 9
13 HEE HFIY 20 | 33 50 [ -17 -0.9 0.66 124.0 147.7%
13 S Y 30 1 29 91 | -62 2.1 0.32 139.5 [35.8%
13 HER C=ES 10 | 29 -4 25 2.5 7.25 86.5 [66.5%
14 Sl R 70 | 183 [ <113 1 70 | 3 1.0 [ 3 162 ] 3 5085 [559%| 1
14 gk S, 60 | 115 | -139 [ -24 [ 20 ]-0.4 | 21 10.83 | 21 ]392.5 [50.3%| 15
14 Z2hE T 70 | 165 [ -139 | 26 | 11 J 04 | 12 | 1.19 | 12 ]455.0 |50.0%| 17




